S/ § EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

OLLETT CORPORATION oes J. ROBERSON s;im
soosno. 11-1420
25/50 HI/HR 425 A/W DISPENSERS (.. s20m o
SEISMIC ANCHORAGE AL MONTED
wm"‘
T RECORD SHALL DESIEN THE

/ BACKING PLATE (I6 GA., 50 ksi MIN)
AND THE WALL STRUCTURE

=7 -

C.6. WT. = SEE SCHED —— Vu MOUNTING PLATE (14 GA, 55 20,
| — ASTM A240, ALLOY UNS 520100)

E —%» Tu
7
— \ Vu
\ USE 6-3/8"0 (A30T) BOLTS
/ THRU BACKING PLATE
5/8" THK. W/ STD WASHERS BOTH SIDES

WALL BOARD T

SIDE ELEVATION

NOTES:
1. FORCES ARE DETERMINED PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10

STRENGTH DESIGN IS USED. (Sps = 25, ap = 10, Ip = 15, Rp = 25, z/h < 1)

HORIZONTAL FORCE (Eh = 180
VERTICAL FORCE (Ev) = 050 Wp

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS FOR DESIGN.
THESE CALCULATIONS ENCOMPASS ALL WEIGHTS UP TO THE MAXIMUM WEIGHT SHOWN,

3 STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN IN COMBINATION WITH ALL OTHER
LOADS THAT MAY BE PRESENT.




S/ § EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

OLLETT CORPORATION oes | ROBERSON 2”'
sosno. 11-1420
25/50 HI/HR 425 A/W DISPENSERS .. ozm |_ o .
2EISMIC ANCHORAGE STRUCTIRAL ENGINEER OF HALL MONTED

RECORD SHALL DESIEN THE
BACKING PLATE (16 GA., 50 ksi MIN.)
. . AND THE WALL STRUCTURE
¢ e Ol
CE.NT. =

SEE SCHED —
(X = 101"

—

—) MODEL | MAXWT | v | Tu | W
I ¢ *50H425A | 254 | 1B | 3B | 7

. O5HI25A 005 B | 30 | B4
§ i 50HR425 168 B | 208 | 104
__________ |
E o P O5HR425 139 B | 08 | %
T 9\46 * USED IN CALCULATION
=)
\ USE 6-3/8"0 (A30T) BOLTS
68" q." THRU BACKING PLATE
- - W/ STD WASHERS BOTH SIDES

BACK ELEVATION

LOADS: PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10.
(STRENGTH DESIGN IS USED) (Sps = 25,ap = 10, Ip = 15,Ro = 25, zh < 1)
WEIGHT = 254 LB
HORIZONTAL FORCE (E) = 180 Wp = 457 LB
VERTICAL FORCE (Ev) = 050 Wp = 127 LB
BOLT FORCES:
BOLT SPEC: 3/8" (A307) BOLTS

TENSION () ¢T= 3589 LB/BOLT
(0544(12) + RTH070.2) ¢V= 1914 LB/BOLT
T = = 89 LB/BOLT
? VERTICAL Torr(307)16")
Topae= 2HOMEED) _ g\ gmorT
1 sour (167(5")
457486992
Tu perp= - 153 LB/BOLT
VPR T ot (15(16")

Topax = 89%# + (03)(153#) + 178# = 313 LB/BOLT (MAX)

SHEAR (V)

Vo = | 2544129 + 12780029\ " . (_457#869) \'_ 157 L/mOLT (i)
3 sours(16”) 2 sours (15”)




